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[This question paper contains 04 printed pages] 

             

Roll Number: ______________ 

HPAS (Main) Examination-2018 

ECONOMICS-II 

Time: 3 Hours                             Maximum Marks: 100 

         समय : तीन घंटे         अधिकतम अकं: 100 

Note: 

1. This question paper contains eight questions. Attempt total five 
questions including question No.1 which is compulsory. 

 
2. Each question carries equal marks. Marks are divided and indicated 

against each part of the question. 
 

3. Write legibly. Each part of the question must be answered in 
sequence in the same continuation.  

 

4. If questions are attempted in excess of the prescribed number only 
questions attempted first up to the prescribed number shall be 

valued and the remaining answers will be ignored. 

ध्यान दें: 

1. इस प्रश्न पत्र में आठ प्रश्न हैं। प्रश्न संख्या 1 (जो अननवायय है) सहहत कुल पांच प्रश्नों के उत्तर 

ललखिए। 
 

2. प्रत्येक प्रश्न के समान अकं हैं।      को प्रश्न के प्रत्येक भाग के ववरुद्ध ववभाजजत और इंधगत 

ककया गया है। 
 

3. स्पष्ट रूप से       प्रश्न के प्रत्येक भाग को उसी क्रम में क्रम से उत्तर हदया जाना चाहहए।  

 

4. यहद प्रश्नों को ननिायररत संख्या से अधिक करने का प्रयास ककया जाता है, तो केवल ननिायररत 

संख्या तक पहले ककए गए प्रश्नों    मूलयांकन ककया जाएगा और शषे उत्तरों को नजरअदंाज 

ककया जाएगा। 
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1. Answer the following questions in brief:  (05x04=20) 

                                   : 

(a) Why basic objectives of economic planning have remained by 

and large unfulfilled in India? How the approach of doing away 

of the Planning Commission is expected to revert the process? 

                                                    ?               

                                                                     ? 

(b) Examine the impact of Trade related Intellectual Property 

Rights on the pharmaceutical industry in India.  

                                                                       

                        । 

(c) Is the public sector is still relevant for the industrial 

development and growth of India? Provide valid arguments in 

support of your view.  

                                                                      

  ?                                   । 

(d) Distinguish between ‘income poverty’ and ‘multi-dimensional 

poverty’. What does the multidimensional poverty index 

measure?  

'          '     ‘                ’              ।                          

               ? 

2. (a) “The present crisis of agriculture in India is a composite of 

agrarian crisis i.e. distress of farmers and agricultural crisis i.e. 

failure of the agricultural sector.” Elaborate.      (12) 

"                                                                      (     

      )                                          ."                   । 

(b)  Do you subscribe to the idea that the present crisis of 

agriculture is limited to a handful of states like Maharashtra, 

Kerala, Tamil Nadu etc.? Give reasons to support your 

assertion.           (08) 

       इ                                                                , 

    ,          इ                                    ?                        

      । 

3. “The big bang economic reforms of the 1990s and gradualism 

and calibration in it in recent times have though many 
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positives, yet, has failed to give a serious dent to poverty and 

inequality.” Evaluate the statement. What measures would you 

suggest in a typical neo-liberal set-up to handle inequality? 

        (16+04=20) 

“1990                                         इ                           

                                                                      

(     )                    ।” इ         मूल्यांकन    ।             

                                                                 ? 

4. Give a detailed account of growth and structure of industrial 

sector in India with respect to technology-intensity, labour-

intensity, diversification, global competitiveness and regional 

spread? Do you subscribe to the idea that though India has 

been able to prevent de-industrialisation yet, it has failed to 

create an industrial base that can sustain high growth 

momentum and absorb surplus labour?          (14+06=20) 

      -     ,   -     ,        ,                                     

                                                                     ।     

   इ                                             -                

                                                                   

                                                                     

      ? 

5. Why is fiscal balance treated as a pre-condition for stability and 

steady growth for the Indian economy? Examine the salient 

features of FRBM Act in this regard. Can adherence to strict 

fiscal discipline at a time when the economy is facing demand-

side recession be a viable policy option?          (08+08+04=20) 

                   स्थयय्त्व                                            

                         ? इ           FRBM                             

               ।                                                         

                                                                     

                ? 

 

6. “Himachal Pradesh stands apart from many states in India with 

its strong track record of poverty reduction, service delivery, 

and human and social development outcomes. While future 

economic growth is expected to result in significant economic 

gains, it can also entail potential costs as the state will have to 
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deal with new challenges.” In the light of the above 

assessment made by the World Bank team explain the 

evolution and growth of the Himachal Pradesh economy and 

challenges faced by it.        (20) 

"                   ,                                                       

                                                                           

       ।               इ                                                  

         ,      इ                                                         

               ।".                                                 

                                                                 इ   

              । 

7. (a)  Account for the factors responsible for India’s widening current 

account deficits in the post reform era.      (08) 

                                                                               

        । 

(b) What measures have been adopted by the government 

recently to handle the problem?        (08) 

       इ                                                          ? 

(c) Do you think in the present growth scenario curtailment in 

domestic absorption through deflationary measures is a viable 

policy tool to reduce current account deficit?      (04) 

                                                                        

                                                                       ? 

8. Explain the channels through which money supply regulation 

works in India. Do you think in an open economy with high 

capital mobility monetary management can be successful in 

delivering the desired goal of ‘growth with stability’?  

        (14+06=20) 

          (    )                                                            

       ।                                                                   

                    '                    '                               

              ? 


